

Generalized Bernoulli Polynomials

C. Hernández-Aguilar, A. Domínguez-Pacheco and J. López-Bonilla

ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 5, 3er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We deduce several connections between the generalized polynomials and numbers of Bernoulli and the Stirling numbers.

Key words: Pochhammer symbol - Generalized Bernoulli polynomials - Stirling numbers

INTRODUCTION

We know the following identity of Srivastava-Todorov [1, 2] for the generalized Bernoulli numbers [3]:

$$B_n^{(z)} = \sum_{k=0}^n \frac{(-1)^k \binom{n+z}{n-k} \binom{k+z-1}{k}}{\binom{n+k}{n}} S_{n+k}^{[k]}, \quad (1)$$

Involving the Stirling numbers of the second kind [4], where we can apply $\frac{d}{dz}$ and after to evaluate in $z = 1$ to obtain the expression:

$$\left[\frac{d}{dz} B_n^{(z)} \right]_{z=1} = B_n H_{n+1} - \sum_{k=0}^n \frac{(-1)^k \binom{n+1}{n-k}}{\binom{n+k}{n}} S_{n+k}^{[k]}, \quad (2)$$

With the participation of the harmonics and Bernoulli numbers [4-6]:

$$B_n = B_n^{(1)} = \sum_{k=0}^n \frac{(-1)^k \binom{n+1}{n-k}}{\binom{n+k}{n}} S_{n+k}^{[k]}; \quad (3)$$

In the deduction of (2) we use (3) and the relations [5]:

$$\left[\frac{d}{du} \binom{u}{n-k} \right]_{u=n+1} = \binom{n+1}{n-k} (H_{n+1} - H_{k+1}), \quad \left[\frac{d}{du} \binom{u}{k} \right]_{u=k} = H_k. \quad (4)$$

The property (3) was deduced by Jordan [5, 7-11] and it is immediate from (1). The result (2) is an alternative to the Coffey's formula [2]:

$$\left[\frac{d}{dz} B_n^{(z)} \right]_{z=1} = -\frac{n}{2} B_{n-1} - \sum_{j=0}^{n-2} \binom{n}{j} \frac{B_{n-j} B_j}{n-j}. \quad (5)$$

In [2] we find the property:

$$B_n^{(n)} + n B_{n-1}^{(n-1)} = \sum_{k=1}^n \frac{1}{k+1} S_n^{(k)}, \quad n \geq 1, \quad (6)$$

Involving the Stirling numbers of the first kind [4-6]. On the other hand, Howard [2, 3, 12] showed the expression:

$$B_n^{(n)} = \sum_{k=0}^n \frac{(-1)^k}{k+1} S_n^{(k)}, \quad (7)$$

Then (6) and (7) imply the identity:

$$\sum_{k=1}^n \frac{1}{k+1} S_n^{(k)} = n \delta_{1,n} + \sum_{k=1}^n \frac{(-1)^k}{k+1} [S_{n-1}^{(k)} + S_{n-1}^{(k-1)}], \quad n \geq 1. \quad (8)$$

We have the Halphen's formula [5, 13, 14]:

$$\frac{d^n}{dx^n} \left[f(x) \phi \left(\frac{1}{x} \right) \right] = \sum_{k=0}^n (-1)^k \binom{n}{k} x^{-k} \left[\frac{d^k}{dt^k} \phi(t) \right]_{t=\frac{1}{x}} \cdot \frac{d^{n-k}}{dx^{n-k}} [x^{-k} f(x)], \quad (9)$$

Then we can employ $f(t) = 1, \phi(t) = (t)_n$ to obtain an interesting expression for the n th derivative of the Pochhammer symbol:

$$\frac{d^n}{dx^n} \left(\frac{1}{x} \right)_n = n! x^{-n} \sum_{k=0}^n (-1)^k \binom{n}{k} \binom{n-1}{k-1} x^{-k} B_{n-k}^{(n+1)} \left(1 - \frac{1}{x} \right), \quad n \geq 0, \quad (10)$$

Where were applied the relations [2]:

$$\frac{d^k}{dt^k} (t)_n = \frac{(-1)^{n-k} n!}{(n-k)!} B_{n-k}^{(n+1)} (1-t), \quad \frac{d^{n-k}}{dx^{n-k}} x^{-k} = \frac{(-1)^{n-k} (n-1)!}{(k-1)!} x^{-n}. \quad (11)$$

If we use (10) for $x = 1$:

$$\left[\frac{d^n}{dx^n} \left(\frac{1}{x} \right)_n \right]_{x=1} = n! \sum_{k=0}^n (-1)^k \binom{n}{k} \binom{n-1}{k-1} B_{n-k}^{(n+1)} = \sum_{k=0}^n (-1)^k k \binom{n}{k} S_{n+1}^{(k+1)}, \quad (12)$$

where we employed the formula [5, 15]:

$$S_{n+1}^{(k+1)} = \binom{n}{k} B_{n-k}^{(n+1)}. \quad (13)$$

On the other hand, it is very known the relation [4, 5]:

$$\left(\frac{1}{x} \right)_n = \sum_{k=0}^n (-1)^{n-k} S_n^{(k)} x^{-k}, \quad (14)$$

Hence:

$$\frac{d^n}{dx^n} \left(\frac{1}{x} \right)_n = x^{-n} \sum_{k=0}^n \frac{(-1)^k (n+k-1)!}{(k-1)!} S_n^{(k)} x^{-k}, \quad (15)$$

Therefore:

$$\left[\frac{d^n}{dx^n} \left(\frac{1}{x} \right)_n \right]_{x=1} = n! \sum_{k=0}^n (-1)^k \binom{n+k-1}{n} S_n^{(k)}, \quad (16)$$

whose comparison with (12) gives the identity:

$$n! \sum_{k=0}^n (-1)^k \binom{n+k-1}{n} S_n^{(k)} = \sum_{k=0}^n (-1)^k k \binom{n}{k} S_{n+1}^{(k+1)}. \quad (17)$$

REFERENCES

1. Srivastava, H.M. and P.G. Todorov, 1988. An explicit formula for the generalized Bernoulli polynomials, *J. Math. Anal. Appl.*, 130(2): 509-513.
2. Coffey, M.W., 2011. Series representation of the Riemann and Hurwitz zeta functions and series and integral representations of the first Stieltjes constant, arXiv: 1106.5146v1 [math-ph] 25 Jun 2011.
3. Luo, H. and G. Liu, 2008. An identity involving Nörlund numbers and Stirling numbers of the first kind, *Scientia Magna*, 4(2): 45-48.
4. Aigner, M., 2007. *A course in enumeration*, Springer, Berlin.
5. Quaintance, J. and H.W. Gould, 2016. *Combinatorial identities for Stirling numbers*, World Scientific, Singapore.

6. Spivey, M.Z., 2019. The art of proving binomial identities, CRC Press, Boca Raton, FL, USA.
7. Jordan, C., 1950. Calculus of finite differences, Chelsea, New York.
8. Shirai, S. and K.I. Sato, 2001. Some identities involving Bernoulli and Stirling numbers, *J. Number Theory*, 90(1): 130-142.
9. Jeong, S., M.S. Kim and J.W. Son, 2005. On explicit formulae for Bernoulli numbers and their counterparts in positive characteristic, *J. Number Theory*, 113(1): 53-68.
10. Bai-Ni Guo and Feng Qi, 2015. An explicit formula for Bernoulli numbers in terms of Stirling numbers of the second kind, *J. of Analysis & Number Theory*, 3(1): 27-30.
11. López-Bonilla, J., S. Yáñez-San Agustín and A. Zaldívar-Sandoval, 2016. On the Guo-Qi formula involving Bernoulli and Stirling numbers, *Prespacetime J.*, 7(12): 1672-1673.
12. Howard, F., 1993. Nörlund numbers $B_n^{(n)}$, *Appls. of Fibonacci Numbers*, Dordrecht, Kluwer, 5: 355-366.
13. Halphen, G.H., 1879-80. Sur une formula d'analyse, *Bull. Soc. Math. France*, 8: 62-64.
14. López-Bonilla, J. and S. Vidal-Beltrán, 2020. On the nth derivative of $\exp(1/x)$, *African J. of Basic Appl. Sci.* 12(2): 25-26.
15. Gessel, I.M., 2005. On Miki's identity for Bernoulli numbers, *J. Number Theory*, 110(1): 75-82.